brought to you by 🏗 CORE

LE MATEMATICHE

Vol. LXV (2010) - Fasc. II, pp. 15-23

doi: 10.4418/2010.65.2.2

LOGARITHMICALLY COMPLETELY MONOTONIC FUNCTIONS INVOLVING THE GENERALIZED GAMMA FUNCTION

VALMIR KRASNIQI - FATON MEROVCI

By a simple approach, two classes of functions involving generalization Euler's gamma function and originating from certain problems are proved to be logarithmically completely monotonic and a class of functions involving the psi function is showed to be completely monotonic.

1. Introduction and Preliminaries

Euler's classical gamma function, defined for positive x by

$$\Gamma(x) = \int_{0}^{\infty} t^{x-1} e^{-t} dt,$$

The logarithmic derivative of the gamma function is called the digamma function. It is know as the psi function and is denoted by $\psi(x)$.

$$\psi(x) = \frac{d}{dx} \ln \Gamma(x) = \frac{\Gamma'(x)}{\Gamma(x)}.$$

Entrato in redazione: 26 febbraio 2010

AMS 2010 Subject Classification: 33B15, 26A48.

Keywords: Completely monotonic function, Logarithmically completely monotonic function, *p*-gamma function, *p*-psi function, Inequality.

The following integral and series representations are valid (see [1]):

$$\psi(x) = -\gamma + \int_{0}^{\infty} \frac{e^{-t} - e^{-xt}}{1 - e^{-t}} dt = -\gamma - \frac{1}{x} + \sum_{n \ge 1} \frac{x}{n(n+x)}$$
 (1)

It's derivatives are given by

$$\psi^{(n)}(x) = (-1)^{n+1} \int_{0}^{\infty} \frac{t^n e^{-xt}}{1 - e^{-t}} dt$$
 (2)

for x > 0 and $n \in \mathbb{N}$, where $\gamma = 0.57721566490153286...$ is the Euler-Mascheroni constant.

Euler, gave another equivalent definition for the $\Gamma(x)$ (see [7],[8],[13]),

$$\Gamma_p(x) = \frac{p! p^x}{x(x+1)\cdots(x+p)} = \frac{p^x}{x(1+\frac{x}{1})\cdots(1+\frac{x}{p})}, \quad x > 0,$$
 (3)

where

$$\Gamma(x) = \lim_{p \to \infty} \Gamma_p(x). \tag{4}$$

The *p*-analogue of the psi function is defined as the logarithmic derivative of the Γ_p function (see [7]), that is

$$\psi_p(x) = \frac{d}{dx} \ln \Gamma_p(x) = \frac{\Gamma_p'(x)}{\Gamma_p(x)}.$$
 (5)

The function ψ_p defined in (5) satisfies the following properties (see [7]). It has the following series representation

$$\psi_p(x) = \ln p - \sum_{k=0}^p \frac{1}{x+k}.$$
 (6)

It is increasing on $(0, \infty)$ and it is strictly completely monotonic on $(0, \infty)$. It's derivatives are given by

$$\psi_p^{(n)}(x) = \sum_{k=0}^p \frac{(-1)^{n-1} \cdot n!}{(x+k)^{n+1}}.$$
 (7)

Definition 1.1. A function f is said to be completely monotonic on an interval I if f has derivatives of all orders on I and

$$(-1)^n f^{(n)}(x) \ge 0 \tag{8}$$

for $x \in I$ and $n \ge 0$.

Let *C* denote the set of completely monotonic functions.

Definition 1.2. A positive function f is said to be logarithmically completely monotonic on an interval I if its logarithm $\ln f$ satisfies

$$(-1)^n [\ln f(x)]^{(n)} \ge 0 \tag{9}$$

for $x \in I$, and $n \ge 0$.

Let L on $(0,\infty)$ stand for the set of logarithmically completely monotonic functions. The notion "logarithmically completely monotonic function" was posed explicity in [10] and published formally in [9] and a much useful and meaningful relation $L \subset C$ between the completely monotonic functions and the logarithmically completely monotonic functions was proved in [9, 10].

Kershaw (see [5]) prove that for positive x and $0 \le s \le 1$,

$$\exp\left((1-s)\psi(x+s^{\frac{1}{2}})\right) \le \frac{\Gamma(x+1)}{\Gamma(x+s)} \le \exp\left((1-s)\psi\left(x+\frac{1+s}{2}\right)\right).$$

2. Main Results

Chen [3] proved that the function

$$x \longmapsto \frac{1}{[\Gamma(x+1)]^{\frac{1}{x}}}$$

is logarithmically completely monotonic in $(0,\infty)$. The following theorem is a generalized result of Chen [3].

Theorem 2.1. *The function*

$$f(x) = \frac{1}{[\Gamma_p(x+1)]^{\frac{1}{x}}}$$
 (10)

is logarithmically completely monotonic in $(0, \infty)$.

Proof. Using Leibnitz rule

$$[u(x)v(x)]^{(n)} = \sum_{k=0}^{n} \binom{n}{k} u^{(k)}(x)v^{(n-k)}(x),$$

we obtain

$$\begin{split} [\ln f(x)]^{(n)} &= \sum_{k=0}^{n} \binom{n}{k} \left(\frac{1}{x}\right)^{(k)} \left(-\ln \Gamma_p(x+1)\right)^{(n-k)} \\ &= -\frac{1}{x^{n+1}} \sum_{k=0}^{n} \binom{n}{k} (-1)^k k! x^{n-k} \psi_p^{(n-k-1)}(x+1) \\ &\triangleq -\frac{1}{x^{n+1}} g(x) \end{split}$$

$$\begin{split} g^{'}(x) &= \sum_{k=0}^{n} \binom{n}{k} (-1)^{k} k! (n-k) x^{n-k-1} \psi_{p}^{(n-k-1)}(x+1) + \\ &+ \sum_{k=0}^{n} \binom{n}{k} (-1)^{k} k! x^{n-k} \psi_{p}^{(n-k)}(x+1) \\ &= \sum_{k=0}^{n-1} \binom{n}{k} (-1)^{k} k! (n-k) x^{n-k-1} \psi_{p}^{(n-k-1)}(x+1) + \\ &+ x^{n} \psi_{p}^{(n)}(x+1) + \sum_{k=0}^{n} \binom{n}{k} (-1)^{k} k! x^{n-k} \psi_{p}^{(n-k)}(x+1) \\ &= \sum_{k=0}^{n-1} \binom{n}{k} (-1)^{k} k! (n-k) x^{n-k-1} \psi_{p}^{(n-k-1)}(x+1) + \\ &+ x^{n} \psi_{p}^{(n)}(x+1) + \sum_{k=0}^{n-1} \binom{n}{k+1} (-1)^{k+1} (k+1)! x^{n-k-1} \psi_{p}^{(n-k-1)}(x+1) \\ &= \sum_{k=0}^{n-1} \left[\binom{n}{k} (n-k) - \binom{n}{k+1} (k+1) \right] (-1)^{k} k! x^{n-k-1} \psi_{p}^{(n-k-1)}(x+1) \\ &+ x^{n} \psi_{p}^{(n)}(x+1) = x^{n} \psi_{p}^{(n)}(x+1) \\ &= x^{n} (-1)^{n} \sum_{k=1}^{p+1} \frac{n!}{(x+k)^{n+1}} \end{split}$$

If *n* is odd, then for x > 0,

$$g'(x) > 0 \Rightarrow g(x) < g(0) = 0 \Rightarrow (\ln f(x))^{(n)} < 0 \Rightarrow (-1)^n (\ln f(x))^{(n)} > 0.$$

If *n* is even, then for x > 0,

$$g'(x) < 0 \Rightarrow g(x) < g(0) = 0 \Rightarrow (\ln f(x))^{(n)} > 0 \Rightarrow$$

 $\Rightarrow (-1)^n (\ln f(x))^{(n)} > 0.$

Hence,

$$(-1)^n (\ln f(x))^{(n)} > 0$$

for all real $x \in (0, \infty)$ and all integers $n \ge 1$. The proof is completed.

For the next result we will make use of the following Lemma.

Lemma 2.2. Let f'' be completely monotonic on $(0, \infty)$, then for $0 \le s \le 1$, the functions

$$x \mapsto \exp\left(-f(x+1) - f(x+s) - (1-s)f'\left(x + \frac{1+s}{2}\right)\right)$$

 $x \mapsto \exp\left(f(x+1) - f(x+s) - \frac{1-s}{2}f'(x+1) + f'(x+s)\right)$

are logarithmically completely monotonic on $(0, \infty)$.

Proof. See [2].
$$\Box$$

The following Theorems are Γ_p analogues of the results from [2].

Theorem 2.3. For $0 \le s \le 1$, the functions

$$x \mapsto \frac{\Gamma_p(x+s)}{\Gamma_p(x+1)} \exp\left((1-s)\psi_p\left(x+\frac{1+s}{2}\right)\right)$$

and

$$x \mapsto \frac{\Gamma_p(x+1)}{\Gamma_p(x+s)} \exp\left(-\frac{1-s}{2}\left(\psi_p(x+1) + \psi_p(x+s)\right)\right)$$

 $are\ logarithmically\ completely\ monotonic.$

Proof. Applying Lemma 2.2 to $f(x) = \log \Gamma_p(x)$, and using the fact that $f''(x) = \psi_p'(x)$ is completely monotonic on $(0, \infty)$ (see [7]), one obtains the proof.

Theorem 2.4. For positive x and $0 \le s \le 1$, then

$$\begin{split} \exp\left(\frac{1-s}{2}\Big(\psi_p(x+1)+\psi_p(x+s)\Big)\Big) &\leq \frac{\Gamma_p(x+1)}{\Gamma_p(x+s)} \leq \\ &\leq \exp\left((1-s)\psi_p\left(x+\frac{1+s}{2}\right)\right). \end{split}$$

__

Proof. Let
$$f_p(x) = \frac{\Gamma_p(x+s)}{\Gamma_p(x+1)} \exp\left((1-s)\psi_p\left(x+\frac{1+s}{2}\right)\right)$$
 and

$$g_p(x) = \frac{\Gamma_p(x+1)}{\Gamma_p(x+s)} \exp\left(-\frac{1-s}{2} \left(\psi_p(x+1) + \psi_p(x+s)\right)\right).$$

Since,

$$\lim_{x \to \infty} f_p(x) = \lim_{x \to \infty} g_p(x) = 1$$

and $f_p(x), g_p(x)$ are decreasing from theorem 2.3 we have

$$\exp\left(\frac{1-s}{2}\left(\psi_p(x+1)+\psi_p(x+s)\right)\right) \le \frac{\Gamma_p(x+1)}{\Gamma_p(x+s)} \le \\ \le \exp\left((1-s)\psi_p\left(x+\frac{1+s}{2}\right)\right)$$

for $0 \le s \le 1$. The proof is completed.

Let *s* and *t* be two real numbers with $s \neq t, \alpha = \min\{s, t\}$ and $\beta \geq -\alpha$, for $x \in (-\alpha, \alpha)$, define

$$h_{\beta,p}(x) = \begin{cases} \left[\frac{\Gamma_p(\beta+t)}{\Gamma_p(\beta+s)} \cdot \frac{\Gamma_p(x+s)}{\Gamma_p(x+t)} \right]^{\frac{1}{x-\beta}} & x \neq \beta \\ \exp[\psi_p(\beta+s) - \psi_p(\beta+t)] & x = \beta \end{cases}$$

for p > 0.

The following theorem is a generalization of a result of [12].

Theorem 2.5. The function $h_{\beta,p}(x)$ is logarithmically completely monotonic on $(-\alpha, +\infty)$ if s > t.

Proof. For $x \neq \beta$, taking logarithm of the function $h_{\beta,p}(x)$ we have

$$\begin{split} \ln h_{\beta,p}(x) &= \frac{1}{x-\beta} \left[\ln \frac{\Gamma_p(\beta+t)}{\Gamma_p(\beta+s)} - \ln \frac{\Gamma_p(x+s)}{\Gamma_p(x+t)} \right] \\ &= \frac{\ln \Gamma_p(x+s) - \ln \Gamma_p(\beta+s)}{x-\beta} - \frac{\ln \Gamma_p(x+t) - \ln \Gamma_p(\beta+t)}{x-\beta} \\ &= \frac{1}{x-\beta} \int_{\beta}^{x} \psi_p(u+s) du - \frac{1}{x-\beta} \int_{\beta}^{x} \psi_p(u+t) du \\ &= \frac{1}{x-\beta} \int_{\beta}^{x} \left[\psi_p(u+s) - \psi_p(u+t) \right] du \\ &= \frac{1}{x-\beta} \int_{\beta}^{x} \int_{t}^{s} \psi_p'(u+t) dv du \\ &= \frac{1}{x-\beta} \int_{\beta}^{x} \varphi_{p,s,t}(u) du \\ &= \int_{0}^{1} \varphi_{p,s,t}((x-\beta)u + \beta) du, \end{split}$$

and by differentiating $\ln h_{\beta,p}(x)$ with respect to x,

$$[\ln h_{\beta,p}(x)]^{(k)} = \int_{0}^{1} u^{k} \varphi_{p,s,t}^{(k)}((x-\beta)u + \beta)du$$
 (11)

If $x = \beta$ formula (11) is valid.

Since functions ψ_p' and $\varphi_{p,s,t}$ are completely monotonic in $(0,\infty)$ and $(-t,\infty)$ respectively, then $(-1)^i [\varphi_{p,s,t}(x)]^{(i)} \ge 0$ holds for $n \in (-t,\infty)$ for any nonnegative integer i.

Thus

$$(-1)^{k} [\ln h_{\beta,p}(x)]^{(k)} = \int_{0}^{1} u^{k} (-1)^{k} \varphi_{p,s,t}^{(k)} ((x-\beta)u + \beta) du \ge 0$$

in $(-t, \infty)$ for $k \in \mathbb{N}$. The proof is completed.

REFERENCES

- [1] M. Abramowitz I. A. Stegun, *Handbook of Mathematical Functions with Formulas and Mathematical Tables*, Dover, New York, 1965.
- [2] P. Gao, Some monotonicity properties of gamma and q-gamma functions, ISRN Mathematical Analysis 2011 (2011), Article ID 375715, 15 pages, doi:10.5402/2011/375715.
- [3] Ch.-P. Chen X. Li F. Qi, A logarithmically completely monotonic function involving the gamma functions, Gen. Math. 14 (2006), 127–134.
- [4] D. Kershaw A. Laforgia, *Monotonicity results for the gamma function*, Atti Accad. Sci. Torino Cl. Sci. Fis. Mat. Natur. 19 (1985), 127–133.
- [5] D. Kershaw, *Some extensions of W. Gautschis inequalities for the gamma function*, Math. Comp. 41 (1983), 607–611.
- [6] V. Krasniqi F. Merovci, *Inequalities and monotonicity for the ratio* Γ_p *functions*, Int. J. Open Problems Compt. Math. 3 (1) (2010), March.
- [7] V. Krasniqi A. Shabani, *Convexity properties and inequalities for a generalized gamma function*, Appl. Math. E-Notes 10 (2010), 27–35.
- [8] V. Krasniqi T. Mansour A. Shabani, *Some monotonicity properties and inequality for* Γ *and* ζ *function*, Math. Commun. 15 (2010), 365–376.
- [9] F. Qi Ch.-P. Chen, *A complete monotonicity property of the Gamma function*, J. Math. Anal. Appl. 296 (2004), 603–607.
- [10] F. Qi B.-N. Guo, Completely monotonicities of functions involving the gamma and digamma functions, RGMIA Res.Rep. Coll. 7 (1) (2004), 63–72.
- [11] F. Qi S. Guo, *Inequalities for the incomplete gamma and related functions*, Math. Inequal. Appl. 2 (1)(1999), 47–53.
- [12] F. Qi, *Three class of logarithmically completely monotonic functions involving the gamma and psi functions*, Integral Transform Spec . Funct. 18 (2007), 503–509.
- [13] J. Sandor, *Selected chapters of geometry, analysis and number theory*, Lambert Academic Publishing, 2009.

VALMIR KRASNIQI

Department of Mathematics and Computer Sciences
University of Prishtina
Avenue "Mother Theresa" 5, Prishtinë 10000
Republic of Kosova
e-mail: vali.99@hotmail.com

FATON MEROVCI

Department of Mathematics and Computer Sciences
University of Prishtina
Avenue "Mother Theresa" 5, Prishtinë 10000
Republic of Kosova
e-mail: fmerovci@yahoo.com